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1. �����	
�� P 
����������	������� �	���� P = 3x + y  #$���%�����&�%����'		'�()%*���+

x + y ≤ 4
|x . y|   < 1
x ≥ 0,  y  ≥ 0
�����)��1���	 #$�(�����	&%� P (3����)
������� ���%�����&�%����'	�������������	
����5�	���6��*	�	'���+

7�8
59����������:8���9�*	�#�)7�8
59:;+�������
����1�$�����	���������#$�%�1)
��5%	#��(� 
��� 1  <=������	��� *	�#�) (0, 0), (0, 1), (1, 0), ( 5

2 , 3
2 ), ( 3

2 , 5
2 )

��*	�5)� P(0, 0) =   3(0) + (0)   =   0 
 P(0, 1) =   3(0) + (1)   =   1 
 P(1, 0) =   3(1) + (0)   =   3 
 P( 5

2 , 3
2 ) = 3( 5

2 ) + ( 3
2 ) = 9

P( 3
2 , 5

2 ) = 3( 3
2 ) + ( 5

2 ) = 7

:���B��'+� �)�(�����	 �;% 0 #$��)��1���	 �;% 9 �
� 

2. �����	
�� P 
����������	��������	���� P = 6x + 7y  #$���%�����&�%�����		'�()%*���+
3x + 4y  ≤ 7
x . y ≥ 0
x ≥ 0,  y  ≥ 0
�����)��1���	 #$�(�����	&%� P (3����)
������� 5�	���6&%�%�����&�%����'	*	�	'���+



������6 7�8
59�����������:8���9��D�;%7�8
59���
����1����
�$����$��(������������)5����%�1) 

��5%	#��(���� 1  ����	���&%��1����
�$����*	�	'���+ (0, 0), ( 7

3 , 0), (1, 1) 
 
:���B��'+� P(0, 0) =   6(0) + 7(0)   =   0 
 P( 7

3 , 0) =   6( 7
3 ) + 7(0)   =   14 

 P(1, 1) =   6(1) + 7(1)   =   13 
 	'��'+� �)�(�����	
�)��'7 0 #$��)��1���	
�)��'7 14 �
� 

3. �����	
�� P 
����������	������� �	���� P = 3x + y  #$���%�����&�%�����		'�()%*���+
2x . y ≥ 1
x + 3y  ≤ 3
x ≥ 0,  y  ≥ 0
�����)��1���	 #$�(�����	&%� P (3����)
������� 
&������6&%�%�����&�%����'	*	�	'���+

������6 7�8
59���
����1����
�$����(���������)5����%�1)
��5%	#��(���� 1 ��
����)5����
�� 



(�%�:8���9� <=��
������+�����3����	���*	�	'���+ �;% ( 6
7 , 5

7 ), ( 1
2 , 0), (3, 0) 

 	'��'+� P( 6
7 , 5

7 ) = 3( 6
7 ) + ( 5

7 ) = 23
7 ,

P( 1
2 , 0) =   3( 1

2 ) + (0)   =  3
2

#$� P(3, 0) =   3(3) + (0)   =   9 
 ��*	�5)��)�(�����	
�)��'7 3

2 #$��)��1���	
�)��'7 9 �
� 
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1. ������#�)���=��E$8(�8���� 2 F�8	 �;% �8���� A #$��8���� B <=��
���
�;+%E�����
�D��1��'+� 2 F�8	 #()
F��)5� 

E��&%�5'(3�	87
����E$8(#(�()���'� 	'���+
5'(3�	87 �8���� A �8���� B 
E��IJ�� ��%�$� 20 ��%�$� 50 

E��
��'�
������ ��%�$� 80 ��%�$� 50 
3��
�#()$�5'�(�%����
&��E��IJ��*�)
�8� 300 �8�$��'� #$�E��
��'�
������*�)
�8� 420 �8�$��'� #$������� 
�����	����&��
�;+%E�����
�D��1�F�8	 A *5�('5$� 300 7�� #$�
�;+%E�����
�D��1�F�8	 B *5�('5$� 200 7�� 
��(%7���3��()%*���+
1) ��
&����������	������� 
2) ��
&���%�����&�%����'	 
3) ��������5�E$E$8(
B$������*	�
�#()$�5'�
4) ����5)���������(�%�&���8�����'+��%�F�8	
��*	�������
�)�
	�=��������*	�������&����������	 
������� ���(8
�� x 
�������5��8����F�8	 A #$� y 
�������5��8����F�8	 B ���E$8(*	� 

1) 
�;�%���������������	����&��
�;+%E��F�8	 A #$�F�8	 B *5�('5$� 300 7�� #$� 200 7�� 
(��$��	'7 
:���B��'+��������	������� �;% P = 300x + 200y �
� 

2) 
�;�%������&�%����'	
�
�;�%�&%�5'(3�	87���(�%����
&���� �$)�5�;% E��IJ�������3���
&����*	�5'�
$�*�)
�8� 300 �8�$��'� #$�E��
��'�
�����������3���
&����*	�*�)
�8�5'�$� 420 �8�$��'�
�%�����'+��'������	%'(���)5�&%�5'(3�	87�����
F�
��8����#()$�F�8	 <=���8���� A �����	 
%'(���)5�E�����5)��E��IJ��#$�E��
��'�
������*5���� 20: 80   #$��8���� B �����	*5���� 50:50 

 	'��'+� %�����&�%����'	���*	��D�;% 
0.2x + 0.5y   ≤ 300     -----(1) 

 0.8x + 0.5y   ≤ 420     -----(2) �
� 
3) ()%*�
����#����77�������+	�5�
�(�8�<�#$��N&%�
��
�%�� <=�������
�(�8�<�������'��'7 

��77�����	'��$)�5�;% 
0.2 0.5 x
0.8 0.5 y
  
  
  

=
300
420
 
 
 

-----(3) 




�;�%���� 
0.2 0.5
0.8 0.5 = (0.2)(0.5) . (0.8)(0.5)  =  0.1 . 0.4  =  . 0.3 

 �	�
F��N&%�
��
�%����*	�5)�

x =

300 0.5
420 0.5

0.3− = (300)(0.5) (420)(0.5)
0.3
−
− = 200   #$� 

y =

0.2 300
0.8 420

0.3− = (0.2)(420) (0.8)(300)
0.3
−
− = 520 

 �'���;% �8���� A E$8(*	� 200 ��)5�()%5'� #$��8���� B E$8(*	� 520 ��)5�()%5'� �
� 
4) :8���9����6&%���77%����� 

0.2x + 0.5y   ≤ 300     -----(1) 
 0.8x + 0.5y   ≤ 420     -----(2) 
 
���	'���+



������6 ��*	��)�&%���	�������%	�$�%��'7��77%����� *	�#�) (0, 0), (525, 0), (200, 520) 
 #$� (0, 600)  <=����*	��)� P 	'�(����()%*���+

�)���	��� (x, y) P  =  300x + 200y 
(0, 0) 0 

(525, 0) 300(525) + 200(0)  =  157,500 
(200, 520) 300(200) + 200(520)  =  164,000 

(0, 600) 300(0) + 200(600)  =  120,000 
������6 ��
�D�5)����*	�������&���8�����'+��%�F�8	�5��'���������	���)�
�)��'7 164,000 7�� 
<=�����&��
��*	��5��'� 164,000 7����+ ��(�%�&���8�����'+��%�F�8	�5��'��'+���	 
200 + 520  =  720  F8+� �
� 

2. ���(85)��������	������� �;% P = 3x . ky              
�;�% k 
�������5���8�75�
	P ����%	�$�%��'7����� 
k4 . 2k3 . 13k2 + 14k + 24  =  0       3��%�����&�%����'	 �;% x . 2y  ≤ 1,  2x + 3y  ≥ 9,  x  ≥ 0,  y  ≤ 6
#$��)�(�����	&%� P 
�)��'7 6 �����)� k 

 ������� �����&�%��+���5��:8
QR�5)���������
��$%�����'���
���%�
���� #��#()&�%�%7
%D�����<��D
�� 
%%�&�%�%7
�����%���+��#$�5 E�&%
����5)�
��� S&�%�%7��%��%�T �D#$�5�'�
:���5)�$'�R9� 
���%%�&�%�%7���#�$��5)�&�%�%7���
��
�%�'��� 

���%�����&�%����'	��5�	���6��*	�	'���+

������6 
����*	���	��� *	�#�) (3, 1), (13, 6), (0, 6), (0, 3)   
��(�%�����)���	���������
�� P ���)� 
(�����	
�)��'7 6  �D(�%�#�������
�;�%�*&&%��)� k �;% k4 . 2k3 . 13k2 + 14k + 24  =  0      <=����*	� 

�)��'7 2 #$� 4  (
�������)� k (���������+
����*	����(%7
�������5���8�$7	�5� #()
������+
�� 
��*�):8���9����(%7���
�������5���8�$7)

:;+��������%	�$�%��'7%�����
&�%����'	�������������	
��



��	��� P  =  3x + 2y P  =  3x + 4y 
(3, 1) 11 13 

(13, 6) 51 53 
(0, 6) 12 24 
(0, 3) 6 12 

���(���� ��
�D�*	�F'	5)���	��� (0, 3)  ���
���������	������� P = 3x + 2y      ���)�(�����	#$� 
�)�(�����	�D
�)��'7 6  #�	�5)��)� k  ������
���������	����������)�(�����	�D�;% k = 2 �
� 

� � � � � �


